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Mateh List Ty .0 11 and select the
correct answey Using the codes given below :

List I List IT
A. Brotheryg Son ' Father
B. Brother’s wig, II. Niece
C. Brotherg daughter III. Nephew
D. Brotherg fathér IV. Sister-in-law
Code:

(1) AL BIL, Q.1 p.pv
(2)  A-II, B-IV, C-11, D-I
3) A-IIL, B-I1, C-IV, D-1
(4) A-II, B-I, C-IvV, D-II

Choose the most appropriate option :
Globalisation, by increasing

interconnectedness ‘among the various

countries, has resulted in :
(1) greater competition among producers.

(2) no change in competition among
producers.

(3) lesser competition among producers. .

(4) None of the above

In India, one-third of seats are now reserved
for women in : '

(1)  Panchayati Raj Institutions
(2) Lok Sabha e
(3) State Legislative Assemblies
(4) Cabinets
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@V\ frafafea ¥ @ A-H/Q vl lada O W[4, Which of the following come  undar the

¥ apar ¥/ ! \./" vx\h‘w:".\' ol chomien thonge
A weu At W Ao Growthvol plang
B o it s W Rusting ofiron
‘ ' S rsame ¢ Mising ol iron tillings and sandd
2 = & < AR
oy aﬁs\ S\ 31\} iich AR faN D, Froesing of water
Q & W e A g 1. Nonoof the above

E. 3‘“}‘“ iR dﬁﬁ'«!‘@ oA Choose the most approprinte nnswoer from
M e v Rwcdl ¥ A watfivs LD GHRA TN (SIS the options givon holow :

(1) Fad B (1) 1 only |
@) ¥a@ B - @) Bonly |
8) Faw C &) Conly
4) ¥Faa B C () Band C only

5. Trftien # § fvw wew guan dda fg A ond .
T ¥ g gar R 2 5.  Which of tho following road safoty Hign

s depiets ‘school ahead' ?
B A .
(N

& &
g (2)
3) .
( A 3) A

@ ot e Wi S R S % wed sk

AR o 6. ldentify the most appropriate reason for
Hrr holding Br ) "ONCoe
SR =T 9eHH : ¢ Bretton Woods Conference :
R Trfad e
Al qﬁ;a’fﬁ?ﬁﬂ Eﬁ;?ﬂl fr ¥ wu A (1) Tointroduce floating exchange rates
D@) qgh I;i_/al-””l : (2) To recognize USA as a superpower
Hqrdl . m : Sy :
. . ‘ (3) To help the Asian countries in economic
(3) i 29 @l SULCHN G i wE recovery
o & . (4) To preserve economic stability and full
(4) ofenfie STd § onfifw wfie ol employment in the industrial world
ﬁ?fl\T{.'QBT qRLET q;ﬁ(:“ - 3 7. Which of the following is the most labour
7. fiafafag § @ S & Tt 31 intensive sector of the Indian economy ?
gatftes oW 91ey 878 ? (1) Industry ‘
(1) & "~ (2) Mining ,é.‘{"*‘-f"
(2) @ (3) Agriculture #ﬁ% !
3) (4) Manufacturing &
(4) fafmiu : e
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(1) A-III, B-1V, C-1, D-I1
) A-1V, B-I, C-11, D-IIT 7
(3) A-11, B-IIT, C-1v, D-1
@ AL, B-IV, C-I, D-II
aﬁ@maﬁq-mmmﬁﬂﬁuﬁnzmq@

&
/" qepTel Y HET H

fafiav ai freeo T R 2
(1) qﬁzmﬁf%m)“\ '
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Wik '“V,uf
ldl'!lf,”'/ Lhiee ot ,,w,y'lf “”‘.:’
HliV,I'MHUu of i e “,r""‘ ”'”,'/
(ndin in the ninetsenth © ) o1t
(1) "They were heing, pt”
homelnnd "M,.,]u““"
) ; : j inf fe 1L
Poverty and ruril 7l e
1! J oy forY '
I'o ' Juntdd B con ];,t,;'/l',ly
regIonss Hli“"’d /
Phey were being prv
, higher vages
What, was the puliti(:nl
hefore 17697
(1) Dictatorship
(2)  Absolute Monarehy
(4)  Democracy
(4) Constitutional Monarchy thi
‘ : 11 and pelect
Match List 1 with List ant Tow °
‘ s codes gIven helov
correct answer UsINng the coden ¥

L

e
(2)
()

(4)

List 1 | Lint {l
A. Power shared among 1, Pluralism
different organs of
government
B. Power shared among 11. Separation
governments at powers
different levels
C. Power shared by 111, Coalition
different social groups government
D. Power shared by two IV, Federal
* or more political governmen
parties
Code:

(1) A-1I1, B-IV, C-1, D-11
2) A1V, B, C-11, D-1I1
3y A-11, B-II, C-1V, D-1
4) AL B-1V, C-1, D-111
Which part of the.eye regulateg apq

the amount of light entering 1, antro
eye ? u
(1) Retina

(2) Cornea

(3)
(4)

inég

Iris
Pupil
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1o, Frefafaa # 4 gfaH & % wefkemd H wTH |12, From the following, identify tertiary sector

activities :

A, FiA dAH mﬂ\ _ A. Call centre employee

B. T , B. Lawyer |

C. WA L ) C. Fisherman

D. HEHT D. Moneylender

E. &9 ¢ E. Farmer

Hr R o feedt 1} waifuws Iugw IW gﬁq : Choose the most appropriate answer from
(1) %a€ C,D,E & the options given below : :
(2) %ad A,B,C & (1) C,D,E only
(8) %a« B,D,E d (2) A, B, Conly

J4y T A, B,D' 3) B,D,E only

2000 1
13. mgrft 4 ﬁqﬁ:{f@a mzﬁ Eh:' am ot ﬁ (4) A,B,Dony

=afrad hifsu : 13. Arrange the following units of memory in
A,  TETSR ascending order :
B. ETse A. Megabyte
C. @ o B. Gigabyte
D e o r C. Kilobyte
E  >uame D. Petabyte
ﬁmmﬁmﬁﬁmmmzﬁl: E. Terabyte °
(1) B.C,AD,E ' Choose. the most appropriate answer from
the options given below :
(2 C,B,ADE . (1) B,C,A,D,E
£3) C,A BE,Ds (2) C,B,A,D,E
4) C,B,D,AE | 3) C,AB,E,D
_ 4) C,B,D,AE
9@'@9 TAM T HET g A 1 e ST 14. Which one of the following methods is most
fafy Freferfiad § 9 FA-H g ? appropriate to check soil erosion on
‘ . » ?ﬁ (o ?ﬁq) steep slopes ?
@ s T (A a3e2) “ (1) Shifting cultivation
. 4 (2) Shelter belts
(8) == (a4 e 8§ T (3) Mulching

(4) digier Hfd L (4) Terrace cultivation
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16, Prfoigd WA i PIHAIER - A
EAIRIUE |
A Tl 3 S A TE FER diem wfe
SeRICIARERICEER]
B. M e M fewmra oridem
Ll /
C. SRlaTen S7 THER (FTHIE) v/
D. - & we
E. i fems auiem
ﬁmmﬁwfi‘émmw@:
(1) D,E,C,B,A
E,AB,D,C
C,B,D,AE v

A,C,B,D,E

(2)

(17,/Feefian # 4 fon oy a1 vl 3
afesfers fon T 4 9

J/l) Ay -

(2) T&m 4

(3) Hal .«
(4) Ff &
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Select the odd one out,
(1) Rice

(2) Wheat

(3)  Maize

(4) Coconut

Arrange the following events in chronologic
order :

A.  Gandhiji begins Civil Disobedien
-~ Movement by breaking Salt Law
Dandi

B. Launch of Non-Cooperation Moveme
and Khilafat Movement

C. Jallianwala Bagh Massacre
D. Chauri-Chaura incident
E. Second Round Table Conference

Choose the most appropriate answer fri
the options given below :

(1)
(2) E,A/B,D,C

D,EC,B,A

3) C,B,D,AE
4) A,C,B,D,E

Which of the following subjects is included
the Concurrent List ?

(1) Forest

(2) Defence

(3) .Currency
(4) Agriculture
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BNATH2/C/Page 7

W ”
) [y S Ias

e’ o 9/5

(‘ ‘a‘?“j

e

HA —

19.

20.

GET IT ON
Google Play

Which of the following group/s constitute a
food chain ?

A.  Grass, Cow and Elephant
B. Grass, Deer and Lion

C. Grass, Grasshopper, Frog and Snake
D. Grass, Goat and Human

Choose the most appropriate answer from
the options given below :

(1)
(2)
(3)
(4)

D only
A only
B_lo_nly
B, C and D only

Which of the following is not a storage
device ?

Hard drive
Compact disc
Joystick
Plotter

E. ﬁemory stick

T o= >

Choose the most appropriate answer from
the options given below :

(1)
(2)
(3)

(4)

A only
B only
C and D only
A and E only

One of the famous dance forms “Kathakali’

belongs to which of the follow; 1
e ollowing India:

(1) Kerala

(2) Andhra Pradesh
(3) Tamil Nadu

(4) Karnataka
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21. f&w w:;em g\fix yfd difsw
1, b

2,5,11, 32,47
AL T

(1) 21

(2) 18

3) 19

J1) 20

92, fr=fafaa 3 @y & fopm T & SAEEN v

gay fuh 3 ?
(1) Wy
(2 ufeam sra
(3) Hea yem
(4) TSEAH

23, frfafaa # ¥ form wm w fawa § @ sl

Taf greft 2 ?
(1) Tamed
(2) faert
By wfam

(4) =S

24, BR g § kAl § THAT Hl GARIEIH A
3oy 4 Ffafea § 8 fFe FRFA PR

fema mm 2
(1) T WA oH A
. (2) uH T ame A

(3) 3T A
(@ TH A %3 WA

@wﬁw i TRE TR W Y @ FEE
g 3 ¥ S @ et § @ AR Ao

Frffad 6 TS 8 ? T

(1) damd @ AhEm

(2) Y@/ qara g4 hien A~
@ mwmaﬁl@am~/
(4) 394w H @ FE T
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91. Ml in the blank:
2,0, 11, 32,47
(1) 21
(2) 18
(3) 19
4) 20

_ . o states has
99. Which among the following

highest population density in India ?
(1) Maharashtra

(2) West Bengal

(3) Madhya Pradesh

(4) Rajasthan

93. Which one of the following places rece
the highest rainfall in the world ?

(1) Guwahati
(2) Silchar

(3) Mawsynram
(4) Cherrapunji

24, Which of the following programmes
initiated to celebrate the unity in divers
our nation ?

(1) Ek Bharat Pratham Bharat

(2) Pradhan Mantri Gramodaya Yojan
(3) Antyodaya Yojana

(4) Ek Bharat Shreshtha Bharat

25. Which one of the following schemes ain
creation of basic sports infrastructu
Village and Panchayat levels ?

(1) Panchayat Khel Abhiyan
(2) Block / Panchayat Yuva Krida Ab}

(3) Panchayat Yuva Krida aur
Abhiyan

(4) None of the above :
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(1) AdIL B, C-IV, DI+
(2§ AL, B, C-IV, D1
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gl 1 gt 11
A, Ygaa gl I syrEraTE, AT
B. waei @ Fus 1L SfeaTEeh, WIFATEh
c. waet % g / 1L fehareeh,

Pt
p. wguE F [V, SafmaT,

el @Y _ N CCICED
e

(1) AL B-IV, C-II, D-T
(2) A-IIL B-IV, C-I, D-II
«3) A-III, B-I, C-1V, D—II)
(4) A-IIL B-II, C-IV, DI

98, frrfeifiad  acem Wes 71 © :
(1) &H
(2) A
8) W=
(4) 99,
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e
D
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A-II, BIIL, C-IV, D-1
(3) A, B-II, C-IIL, D-IV
(4) A-IL, B C-L DIV
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A AT L e £ 5
B. T 1L ypfieeft
Cc. ®rd 1. 3
pD. T v, am

e

(1) A-L,B-III, C-II, D-IV
@) AL B, C-111, D-IV
3y A-IT1, B-IV, C-1, D-11
(4) A-III, B-Iz C-1I, D-IV
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@) ¥a€ A, B,D; (1) Wﬁ?
3) *ad A, B,C (2) EAw
@) ¥« B,C,D _ (3) U ; R
2 frefen e e RonfEl @ (4) dm _@mﬁ
R ? - >
m‘mmfmﬁqwmﬁ%ma@'@ 47, ‘oemufe weg H WA @«o{
A e R f Becly bl
B. = fwm (2) HHUE
2L (4) T
B Ao o . . .
21 fou o Rt § @ T w6 W ghT 48. g wer T EAR WREW § wE uEe 37 g €
(1) %@ C,D,E arq: 98 W 2| |
@ mand w
@ FaTA C,E LB
w0, a1 % e o R g 13 wbm | ST
e e gFe T A i T g @ w W g (4)" swrma
g 1 gt 11 o
A WEEHEFEWL L rperrarees T | Frefefiaa ameit # -8 g T R 7

B e e S (VL YT He
c. Amwwdl \ I Frowmes s

D. FE e F MR | IV, JETrE @AW

/% A-II, B-III, C-IV, D-T e

(2) A-II, B-IV, C-I1I, D-I

(3) A-II, B-III, C-1, D-IV«~

(4) A-II, B-1, C-I11, D-IV

4., Fefafag § @ HF-a1 AUIESEE 7 8 ?

(1) afasrifes 3TARR .
W2] I ITAHRN

(3) 39T RN

(1) 79 9ed W &aH T |-

) e % hdeit e g 1
(3) Wi ¥ e 3 o e e fen -
(4)'§asar-§%wwmmw@mw

|
50. f=fafad 3 2 S fem =t oree o @ a1 @

(1) w&a o i | =
@ =ga ubl fa | wm wen
(3) wga Hift wfa | 5@

(4) itk awa ¥4 afies wm @

(4) FUH TR
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‘(” LW 2 ) _ \
’ 4 ¢ 16 km/h and h—ll’thqi

T ot rides 24 km & |
g @ ¥|pl A eyclis . hig average speg

RGN 5 ufq e
1. wam 16 fHh ot sk L 18 /b, I H

24%:11;@@@%@%@1%1@ . ,
T 6 T@ A a6 fdl UGRIERL ? \_f‘ﬁ ufd (in km/hour) for the journey

& fad # TR A = H R, A3 H of 18H i ¢

then the vali

,’S ‘t
(1) 118 o)\ - 9 200
@) 200 @ )() ¢ (&) 150 ;
(3) 150 3 S 9t
5 120 <f 4) 120
( v 1
1 1 then X:¥:2% 18°
- 52. If"’_’:"—:"—y g o day
52. ﬂﬁ—l—-z—1~=—1—%,mx:y:zm: 9x 3y 4z
ox 3y 4z
1) 6:3 4
(1) 6:3:4
(2) 4:3:6 ke - (2) 4:3:6
(3) 3:4:6 €)) 3:4:6
D Dadi 4) 6:4:3

. foeh 44 w00 X\SM ATTRR ""-”*?‘"3@ 53. A rectangular piece ofpaper44cm><8c
&ma:fmwama\%ﬁm@m)s@mmw '

v e A & | e I B0 - folded without overlapping to. mak

cylinder of height 8 cm. The volume 0

- 272 & ;pjm Hhifew) ~ cylinder will be :
8”/ 1032 1S 6)'7\\"“-7}(*6 (Usen=g7g)
(2) 352 & (1) 1232 cm3
(3) 27657 qH° 43 (2) 352 cm3
(4) 154 8F° 5 (3) 276:57 cm3
i

\\y (4) 154cm3
) ‘5 _
54. aﬁ%ﬁﬁmﬁﬁjaﬂtgﬁma@m (?D%

54. If a mixture . .
; contains soil i
aﬁzaﬁmiﬁ@jmmmgﬁ{mw ? and saw-dt

the ra!:io of 2: 3, then what is the perce
quantity of soil in the mixture ?

(1) 60% (1) 60%
@) 80% ' it .
(3 35% @) 35%
\W/ 40% @) 40%
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P,Q,Rﬁnsﬁ@mmﬁq@aﬁm%\
. 3
T T H 15 HER F B, Q T I A y

v - .
e &, R 38 I 15 SEGEE T

aﬁt%ﬂmﬁismm%\ 3§ % @
e T e,ooowamam%,jh_sqﬁsm@
frm 3l ; B
(1) T 1,300

2) T 2,000 N

(3) T 1,800

4) T 1,200

S A & A e T TR 48 ¥,

ﬂ—mﬁﬂhﬁﬁ—mﬁ@iﬁ%lmz
o v A e & v e A A e g d
& S fr sah g e R, fEe A
avs 8 g A At @ T we e A
g ool |

(1) 1052 07 e 48 UhUs A

(2) 1092 07 fFe 12 40S 1]

(3) 10%2 07 fiFe 24 S =g

4) 10%2 07 firfe 36 Gehve aTg

57,/ chfre for wh fort & 8 w12 ¥ | A Th-fae
i) 4 52 ¥ 1 A T
m5ﬁﬁﬁwm%aﬂx3mw%m
10 fodi S qu st 2 | A 3R B 3 g M
90 FA o ferqy € T ?
1) 92

(2) 58
(3) 60

) T5
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1 : :
business. P contributes § of the capital, Q

(%

1 1 - ibutes % and S
contributes i R contributes w

contributes the rest. What is the share of S

when profit at end of year is 6,000 ?
1) 1,300
2) ¥ 2,000
@) ¥ 1,600
0
() T 1,20

Three bells make a beeping sound after
every 48 72
108 respectively. They beeped
together at 10 AM. The time (hh : mm : 89),

when they will next beep together at the
earliest is :

56.

seconds, seconds and

seconds

(1) 10:07:48

@) 10:07:12
(3) 10:07:24

(4) 10:07:36

57. Let working hours in a day be 8 hours. A
: .

completes s of a work in 5 days and B, 4 of

the v'vork in 10 days. The number of hours

required to do the complete work by both A

and B together, is :

(1) 92

(2) 58

(3) . 60

4) 75


https://applink.adda247.com/d/XhqWf9lSap
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58. ﬁﬁnﬁu@%ﬁai@ﬁ [am H‘“’“% e ?

i@ﬁaaﬁlbmgsrw%l x W A

— —> m

50°
(1) 40°
(2) 170°
3) 50°
2 Q =
W 60° SU_’LG &~

——
59. 1+ sec? 46° — cot 44° =
fv

a | + r+§£@

1+\[§

3) 1

1 9

Uy 2

(59./21 o, 24_%@127.@1?1 yeall e T

ZAFA 2 )

1y 21645 ’LED of .
(2) 72 %h? +
(3) 10845 @’ / A
4) 725 @h? %

anATH2ICIPg® 1

59.

60.

GET IT ON
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two lines I and h

Int a and b ap
lines
are parallc] and I o 11 be :

1 40° o~
(2) 70°
3 50°
(4) 60°

1 + sec2 46° — cot® 44° =

w 9

(2) 1+J§_
3) 1

@ 2

T .
he area of a triangle with sides 21
24 cm and 27 cm, is :

(1) 216V5 ¢m2
(2) 72 Cm2 :

(3) 1085 ¢m?2
4) 72\/3 e
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a1, 10 8% of x ig the snme as 4% of y, then 2% of
x represents .
(1) HO% of y
(2) 10%ofy

3) A0%ofy
(4) 80% ofy

g, A x H 8%, ¥ ® 4% F s y, D x W 20%
poafan B QO Fefa ke
(1) y™ 50%
@ y® 10% «,& ',“‘-’%o» i
A {
@) yd40% /\"( @ Qﬁ
@ y®swe w0 e
)

62. The HCF of %2 + 9% — 15 and %29, 18
(1) x+3

V(l) X+3
\(2) x2+2x-1 2) x2+2x-16
(3 x-3 (3) x-3
@) x+5 4) x+56
N g 3 D = @%\' : N 88 A 63. The least positive number of five digits
& 3 . divisible by 88, is :
(1) 10012
o 1008 @ 10088
(3) 10@ W (3) ’10032 _
4) 10188 (4). 10188
S o 64, 1645-[28-(37-(15-PN = 58, then va
e N | g8
1) 29 lgp Al 5HR) :
52; _og “ST g :[2-9 g% (2 -29
65. dAfz o1 * e FER A g fot ST, A 65. If each edge of a cube is doubled,
R cY W a1 fora i Bt g 2l > percentage increase in its surface area,
(o K (1) 700%
2 100% | i - (2) 100%
J3) 200% (3) 200%
(4) 300%

(4),500%

1 B 5.0 .

66. = S+ — ? 1

2Iﬁx+x @%,ﬁx + 3 =1 HH TR ? |66, Ifx+-;=9, then value of x3+—%
- X

(1) 698 8

S ' 1) 698
| (2 729 q SRS ((2)) 729
i 3) 711 g2
; 4702 ‘A 3) 7.1‘1
| ' ) 702 .

MNutamstAaIAIN_ _ . ALC
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e e T ﬁ gﬂ N I W ICRIGIREE 9 P
™ fusrm A s 6 qel i qfu G A ‘1‘1151‘1 3) A1t
arfire R, @ g gu Fre 2l 2

_a) 9 ' @

7

\ afa 67

68.

@) 10 - }

(3) 128 @D (b

(4) {A

68. mmamaﬁéum&mmﬁﬁgﬁ\@
mﬁ%\ﬂm&mﬁmﬁﬁzﬁgﬂ(@
Sl ? ’
9P

q aew 4 ¥
©) 18=d )
& 21
(4) 98

9. T g it foe @ 10%, 20% 3 50% FE

ﬁﬁ@m%mma@(@)wuﬁmﬂ%:

(1) 70% %

@ 5% =) % a6 Ay

(3) 60% L9 0
> (

y/ 64% %ﬁ

70. @Laﬁ@mW5%lam@aﬁ

m@éﬁwﬁﬁ'ﬁﬂmm%?
1 6 - 3u<3’
@ 5 @’ F
@3 1
WS
71. ﬁﬁ%mﬂxﬁéw w @ o @ el
y,mx.mm%ﬁm%,ﬁf@ﬁ@'ﬂ?

(1) @ Afead (FPEAFR) forg
() x-HE@ H AR U8 i

By T gty (FG4FH) T

gNATH2/C/P29° L

69.

71.

70.
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PSS y i
D 1 1v Cunve ntlty ol 1un i

g litres:
10 litres
12 litres

(4) 8 litres

(1) 42 years
(2) 18years
(3) 21years
(4) 38 years

The single discount equivalent to a se
discounts 10%, 20% and 50% offered
seller is :

(1) 70%

(2) 75%

(3) 60%

(4) 64%

The mean of 2, 6, 9, x and 7 is 5. Tl

difference betwe :
en the large
observations 1s : i and ;

1) 6
@ 5

@ 1

4) 8

A point )

) an\1:'1hose x-coordinate ig pr

s y-coordinate is i
Inate will lie on the :

(1)
(2)
(3)
(4)

one-si

Poi i
3 ll.lt. of intersection of axig
Ft.)sytlve side of x-axis

Irst quadrant

Positive side of y-axis
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4x + 9y
1) A%
A7
@ 2
41
& =
57
TS\
@ =
62

e FE W T o foet & %@zﬁ
aﬁﬁgﬁwm?ﬁ’é\w%ﬁaﬁﬁ% £
v Trad o ? 1.'”‘,
1) T 225 X e
(2 T 425 @ﬁ 95 24
£ T 325 __\«_,,,u(g(@’ 2{&@
4) T 125 e UL

acs wﬁﬁﬁ@wﬁﬁ%mﬁzﬁﬁuﬁa
‘ aé%aiaﬁ??,,woamqaiaéisaiaﬁ

?4,410@@@%{313@%2111:@
mﬁasmuﬁa&%ﬁm
e 1 4 fe

a1 | ‘
(1) T 9,200 o '

y\° 0
(2) F 5,000

\
2XHTY gmam: |72

a1t &t |

7 25% 5 ep =22 5F

@) 16% e 22 2 %&
(3) 20% P~ AS

(4) 24% ;
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If x:y=3:5, then value of M, is:
4x + 9y
41
1 —
(1 7
29
(2) -
41
41
3 —_—
(3) =
41
4 I
(4) 62

" If an electricity bill is

one gets a discount of
the bill. By paying th

person gets a reduction 0

paid before due date,
4% on the amount of

e bill before due date, a

£ < 13. The amount

of his electricity bill was :

1) T 225
2) T 425
(3 T 325 =
(4) T 125

. A man borrowed some
pay off by paying X 3,
first year and ¥ 4,410

money and agreed to
150 at the end of the
at .the end of the

second year. If the rate of compound interest
is 5% per annum, then the sum borrowed,

1S

1) ¥ 9,200 g
(2) ¥ 5,000

3) T 6,500

4) ¥ 17,000

. If the cost price of 15 pens is equal to the

selling pri'ce of 20 pens, then find the loss

pércentage, .
(1) 25%

(2) 16%

(8) 20%

(4) 24%
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Choose the opti
the underlined word
without changing
sentence :

The teacher asked the pupil to pass the
o the entire class.

in the given sentence
the meaning of the

document t
l}J.) circulate
(2) promote
(3)
(4) bypass

raise

Choose the correct option to fill the blank in

-

1.

the given sentence :
\/4/- )
Olympic athletes are not allowed to compete
if they have been ﬁs‘mg/performance-
ol —— P27
drugs or substances. =
(1) enhanced
(2) enhancement
(3) enhance :

@ enhancing

-~

Choose the best option that can be
substituted for the phrase given below :

The act of stealing from n the writing of others
anﬁd/o_ﬁ'ering'them to the Public as one’s own.
(1) Biography g B
(2) Manuscript &
(3) Egotism
((Ar) Plagiarism

Choose the option which can be substituted
for the given phrase :
Study of language ty\(« %
Phonetics ) _ :
Semantics
Stylistics "

(1)
(2)
(8)

on that can be replaced Withd@

81.

\(y) Linguistics

gNATH2/C/Pag® 18

82.

83.
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Choose the option that cor® i ld?ntlfzﬁs
the error, and rectifies the same 10r e
given sentence :
Investigations have prove
per cent of the spelling e{?‘}fs

nat ninety-five
that educated

people make occur most a’_select one
hundred wordE) P

(1) words —word

c2) . have —had

(3) most — mostly
4) make — makes
Identify the option that
the idioms in List I with their m

ListII:

correctly matches
eanings in

List I List 11
A. burn the . apointless
midnight oil comparison between
two comple@ely
N different things
\
B. bummyour i IL stay up late to
bridges >r accomplish a task
C. chickenand\ IIL dilemma over what
egg =y comes before
D.. applesand \IV. leave no scope for
oranges” amelioration
Choose the correct answer from the option:
given below : '

(1) A-L B-II, C-II, D-IV
(2) A-IV, B-1, C-1II, D-II -.
(3) A-III B-II, C-I, D-IV s
(@)~ AL B-IV, C-IIL DT -

Choose the correct answer to fill the blank 11
the given sentence :

That" is best for the nati
be prioritised over all else. 1on s
“(1)  whose
2) who
(3)- which
(4) when
Identify the word which is
1 us a .
uécprre:; in the given news he i:lizlen}atlcall
“Central bank maintainscon o
sector, individual banks.” Constant vigil
(1) vigil T
(2" maintain
@) on L\dﬁm'o‘u@k‘
(4) A

individual


https://applink.adda247.com/d/XhqWf9lSap

A

Addal247

st Change the following sentence from active to
PASSIVE VOICO !

“Why did your sister write such a letter

(1) "Why was such a letter written by vour
sister M

“Why is such a letter being written by
vour sister "

(3
LN

“Why has your sister written such a
letter 2°

1) “Why did your sister wrote this letter ?”

W)

“R/B. Choose the correct option to fill the blank in
the given sentence :

i Ravish is the +_of my uncle’s five sons.

(1) “oldest —

(2)

3)

(4)

older
old
elder

Choose the correct order to make a

meaningful sentence.
that control the outcomes of human

86.

A.
choices
B. there are the vicissitudes of chance and
fate
C. beyond the efforts of ordinary
D. human beings to make their lives
meaningful
(1) CDBA
(2) ADBC
3y CB DA
4 DBCA

the phrasal verb

’ meaning of :
The correct s given below is:

stow away’ from the choice
(1) cast aside
(2) throw away

b

Read the given passage carefully and answer the
questions that follow (Q. 88 - Q. 92) :

. country’s population set to overtake China’s

(3) discard
(4) put away care

BNATH2/C/Page 19
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Finance Minister Nirmala Sitharaman’s
latest Budget is noteworthy for the emphasis
she has laid on the government’s commitment
to move towards net-zero carbon emission by

2070. As an article presented at the World

Economic Forum’s Annual Meeting in Davos

last month notes, India holds the key to
hitting global climate change targets given its
sizeable and growing energy needs. With the

some time this year, India’s appetite for
energy to propel the economy is set to surge
exponentially. The to green

alternatives from the current reliance on fossil

transition

fuels is therefore an urgent imperative and an
opportunity to leverage this move to catalyse
new industries, generate jobs on a sizeable
scale, and add to overall economic output. Ina
nod_ to this, Budget 2023-24 devoted a fair
amount of space to the green industrial and

economic transition needed. With the electric
vehicle (EV) revolution poised to take off as

every automobile major rolls out new EV
models to tap demand, the availability of

produced lithium-ion batteries

indigenously-
ally to lower the

has become & necessity, especi
cost of EVs. The Budget hearteningly proposes

to exempt customs duty on the import of

capital goods and machinery required Eic;
a .
anufacture lithium-ion cells used In

m
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natives will
gg. Transitioning to green Iter
agsist the country by :

A, stimulating growth of n€
ount in

~.':f. te . . .
rles. This ought to give a fillip to local
Jmpanies looking to set up EV battery plants.

w industries.

ulation.
overtaking China’s ¢ popP

Another key proposal relates to the Ig?g

i » bility-
establishment of a viability gap funding improving employa

hani D. stabilizing economic gl‘OWt
mechanism to support the creation of battery g~ enhancing overall economic output.

energy storage systems with a capacity of Choose the most appropriate answer from :
4,000 MWh. Energy storage systems are the options given below :
crucial in power grid stabilisation and //?/ Aand B
essential as India increases its reliance on ) AandD
alternative sources of power generation,
(4) CandD

including solar and wind. With wind turbine
farms and solar photovoltaic projects,

fot A bstitute the underlined word in the given
characteristically, producers of variable \89/SS v ‘

entence with its synonym :
}he availability of indigenously. produced
lithium-ion batteries has become a nece551ty
nese generators produce at their peak output — 4 -
: (1) innovatively -
.(2) locally

(3) easily

electric supply, battery storage systems

1 ecome enablers of ensuring the electricity

H{ stored and then supplied to match the
de ‘.- and arriving at the grid from household or
A mdustnal consumers. Ms. Sitharaman also set .

(4) economically
aside a vital ¥ 8,300 crore towards a

j buildi
¥ 20,700 crore  project . o Ing an 1945, Two reasons for Ladakh to be considered a

inter-State transmission system for the perfect location site to harness solar power

evacuation and-grid integration of 13 GW of are: ‘ |
renewable energy from Ladakh. With its vast A. easy installation of wind turbine farms |
stretches of‘“barreM_ one of the \)/‘ ngf'e stretches of barren land found f

t levels of sunlight o .
country’s _ highes ° — o2 C. close proximity to China geographically = |

g i O e

ideal . -
avallablgy,/)Ladakh is considered an idea ‘g, highest levels of sunlight available
location to site Ph0§QYfltalc arrays for Choose the most appropriate answer from
producmg “a ~substantial capacity of solar the options given below :

r. The fransmission line will help address (1) BandC

what had so far been the hurdle in setting up (2) Aand B

ven its Band D
solar capacity in the region, @ AandC

ia’ i id.
eness from India’s main power gr

powe

remot
gNATH2/C/Page 20

Page- 1A


https://applink.adda247.com/d/XhqWf9lSap

- A
Addal2417

the correet answer {rom tho upliumJ

(hoose
"i\'\\“ helow !
pyemption of customs duty on the import of

mpit al p\\nds and ll\l\(‘\\mory will benefit ¢

A~ foreign investment,
\ Vv y
B. tourism industry.

C.  wind turbine plants,
% P. local companies planning to set up EV

battery plants,

(1) Bonly
12 AandD
(3) BandC

2(4) Donly

hoose the correct answer from the options
given below :

L/,___Th(’ latest Budget
clarion f.‘}y-ﬁl

GET IT ON
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Al
93, I'rom the combination given, identify a

common figure of speech.

A.  'The wind is roaring ..

B, The trees are tall - ¢

C. She is s pink as a rose
D. The brook meanders gwiftly

.

Choose the correct answer from the options
given below :

(1) ACD
2) A,B,CK
3) ABD T
4) B,CD

94, Choose the word from the options given
below that substitutes the underlined phrase

without changing the meaning :

a family on a low
little money as

People who have to raise
ﬁ*T”ome hnvc o live using as

-~

(1) frugally ~
(2) durably
(8) affluently &

(&) miserably

95. Identify the correct spelling from among the
words given below :

S~

(1) Separete
‘(/2) Separate
(3) Seperate

(4) Seperatt

A. imposing customs duty.
\B/zero carbon emission in the future. -
(. surge in energy levels‘ of the public;/
D. the countrys populatlon'./
(1) Donly
(2) Aonly
43) Bonly
(4) Conly
BNATH2/C/Page 21
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,<,mblcd AN
dnthe: following passage, SOMe of the words |96 (1 res¢
have been left out: Read the passage carcfully 2y 'rclnte(l
and choose the correct answer to cach question (#
out ofthe four given alternatives. (R 96-Q 100) ) elating
‘/Economlc development of a country i8 (4) concentrated d

(96) to its mdustrml growth. In 2

O

developiné country like India, Small Scale |97. (1) visual o~

a signiﬁcant role in the @ mean

Industries play

nomic development of the country. They

}3,)/ vital-

4) insigniﬁcant

eco

a (97 segment of the Indian economy

in terms of theirv contribution towards the

\country’s industrial production, exports,’
the creation of an |98 1) »transitional ~

employment and

J,entrepreneunal base. These mj‘fi"fs/bi @) tra pslation Vk

ge in economic
/

a/nd_ large represent a sta
(3) transferring

(98)  from tradltxonal to modern

gy. Small industry plays & Very q(}( transition
se of :

techholo

important role in widening the ba _
entrepreneurship The development of 99. (1) differs «

small mdustrles (99) an easy and effectlve 2) offer
means of achieving broad—based ownership
- = v w3y offers
of industry, and the diffusion of enterprise
T ki . . . (4) diff
and initiative 10 the industrial field. Given irer

their importance; the Government policy
100. (1) highlight

framework right from the First Plan
(2) highlighting

( 100) the need for the development of

trategic '
SSI sector, keeping in View' its s’ra egt () highlighted
importance in the overall economi€
| s (4) heighten
development of India.
BNATH2/CIPage 22 ‘
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